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100m | 400m | 800m | 1500m | &= &1 k| =R Bk | = BeBk| i tLf| 400mR | AFF | MANL
EARAC 11 10 11 17 15 10 4 78 1
S 3 6 3 4 1 5 22 2
FHRHRA 2 i) 8 6 14 3
TR A e 3 3 4 10 4
R 4 6 10 4
B—3IH AR 2 6 8 6
A A= TV 4 4 7
BIGES 0 8
RS HOT B K 0 8
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100m | 400m | 800m | 1500m | &= k| A= M@ Bk | fu L[ 400mR | &5 | NEAL
FARHRAE 2 ) 12 15 6 6 39 1
R 6 6 5 17 2
BT AR ) 11 11 3
SBEFTAVT ) A 9 9 4
NG A 3 6 9 4
ARG )97 0 6
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18 2 fif] o 7 8 3 3 6 2 5 34 1
[ 28 B 7 2 4 3 4 20 2
AR 4 8.5 6 18.5 3
LR 1 6 3.5 1 5 2 | 18.5| 4
ARG 3 2 2 8 1 16 5
SRS A 6 4 6 16 5
AREARE 4 6 3 13 7
TGRS 6 6 12 8
A P 1 4 5 10 9
[{ 4% B 8 5 1 6 10
or B B 2 2 11
e =it 1 1 12
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[ 4 b8 0 13
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100m | 400m | 800m | 1500m | k| AE M| AL £ 400mR | &FF | NAAL
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[ 74 R 6 3 9 5 6 37 2
AREG 10 3 13 3
TGS 5 6 11 4
[ 4 75 50 5 2 2 9 5
20 B SO 8 8 6
AREARE 7 1 8 6
LR 2 2 4 8 6
A P 5 9
J R 4 4 10
Zr B AL 1 1 2 11
AR 0 12
AR 0 12
SRS A 0 12
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